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X

If f(x) is a quadratic function such that f(x)f{l] = f( x)+j“(l]. then | ;‘(%}+ f{%] =
X 2
_f(x)f(lJ:f(x}Jr/'(l) OTDEEY P &) 2.8 9F (D00HO f(x) ©ONS,
X X

el

Options :

25
1.% 12

4]
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Correct Marks : 1 Wrong Marks : 0

f(x)=ax* +bx+c is an even function and g(x) = px’ +¢x* +rx is an odd function,
If h(x)= f(x)+g(x) and h(-2)=0, then 8p+4q+2r=

f(x)=ax’ +hx+c 2,8 DBDODN DOAN g(x)= px’ +gx° +rx 28 B
29008030, 2(x) = f(x)+g(x) HOAW h(-2)=0 NS, 8p+4q+2r=

Options :

1. % 4a+3b+2¢

2. % a+b+c

3. v da+2b+c

4. % Ba+4b+2¢
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If 1.3.54+3.5.7+5.7.9+...tonterms=n(n+1) f(n), then f(2)=

1.3.5+3.5.7+5.7.9+... n S8 =n(n+1) f(n) @ons, f(2)=
Options:
1. % 12

2. % 42

3 % 18



4.+ 20
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| 9] Sl 8 o
A= [ and B= [ | j] are two matrices such that (A+B)(A-B)=A"-B". If

i 2
¢l { then Trace(C) =

A{ ‘B:E j ©R 00 Sredsen (A+B)A-B)=A’-B’ @0DIEN

¥ 2
T &%) Q. C:“h @owd Trace(C) =
y

Options :

1.4 3

2. % D

3. % 7

4, % 9
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=2 =3 5x=5
If x =k satisfies the equation (x—4 3x-9  5x-25|=0, then x =kalso satisfies the
x=-8 3x-27 5x-125

equation

x-2 3x-3  Sx-35

x-4 3x-9  5x-25|=0 dNEBETA) xr=k S92 DOW, x=k T Sy
x—8 3x-27 5x-125

HBBT HOTNE N8B0

Options :

1. % x3+_r—2=0
2 % X =x—-6=0
3% x’=2x-8=0

4¢ X +2x-3=0
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[f A is a non singular matrix, then Adj(A™") =

A 2.8 s Sre3l @one, Adi(A™) =

Options :

1« (Adj A)™

LA-'

) % A
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If the homogeneous system of linear equations x=2y+3z=0, 2x+4y-5z=0,

3x+ Ay+ uz =0 has non-trivial solution, then 8 +114=
B2 DDEBET DTS 3390 Xx—2y+3z=0, 2x+4y-5z=0,
Bx+Ay+ pz =0 %0 SyBSE RS &0, u+114=

Options :

1. % 2

2.0

3. % =0

4. % —2
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~2-)(+i)
(1=
- (2—f}{lfr‘}'“‘
(1-i)°

Options :

If z

, then Arg(z)=

©ONSB, Arg(z) =

Question Number : 9 Question Id : 3838233529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

: : ; 2z-i
z=x+Iy and the point P represents z in the Argand plane. If the amplitude of ( ;j
z42i

oo i " ;
IS i then the equation of the locus of P is

2z-i

z2+2i

z=x+iy B0 880k $008 P Dok z D ArDN0H. ( ] By

BOrS0 g oS, P T, Docudd HavEse0

Options :



| w20 +2y" =3x+3y-2=0,(x,») #(0,-2)
5 @ 2x° +2y" +5x+3y—-2=0, (.r, y)#(0,-2)

o x 2% +2y"+3x+3y-2=0,(x,y)#(0,2)

4 % Px* 4 2);3 —-5x+3y-2=0, (,h;,_].!-) £ ({]j 2)
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a,f3 are the roots of the equation x* +2x+4=0. If the point representing a in the
Argand diagram lies in the 2" quadrant and o™ - B =ik, (i=y-1), then k=
a,f e ¥ +2x+4=0HDEB0 Ty reren. 8dod $00S ¢ &
ArD0B Doty 2 & FB0S &od, a®™ - B =ik, (i=y-1) ©ONS, k=

Options:
1 % _2201.-1\/5
5 % zznzsﬁ

3 @ _23}14\/5

4% 2:15:4J§
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If & is a root of the equation x° —x+1=0, then

3 3 3 3
1 s ] ;o a1
+—| +| & +— +| & +—1 4+ & +—4 =
o a” ar X

X = x+1=000850 T3NE) 208 ;0 @ VoS,

(weg) () o) ()
a+— |+ a'+= | +Ha+—=5|+Ha+—| =
o a a a

Options :

1.% 0

3 % —3

4.¢ =9
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a, 3 are the real roots of the equation x” +ax+b=0, Ifaf+,8=% and o'+’ =%,

then a—lz
b

a,f e X' +ax+b=0 dNEBEI0 TE), rere. a+ﬂ=% AVeJoWN)

a+f :3—7 ©ONS, a—l:
8 b

Options :

~1

4.% 6
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The solution set of the inequation Vx* +x—2 > (l—x) is

Vx* +x=2>(1-x) @5085£0 BEY TGS S

Options :

1. % (—0.2)
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If @, B,y are the roots of the equation 4x’ =3x* +2x=1=0, then &’ + f* + 7" =
4 =3x" + 2x-1=0 Q0G0 B0 Srered a,f,y ©ond, o'+ +1 =
Options :
2
1. % 27

|
|
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Correct Marks : 1 Wrong Marks : 0
The equation 16x* +16x’ =4x—1=0 has a multiple root. If @, £, 7,6 are the roots of
this equation, then —]-4 + ~I—4 + ~l—4 + —14- =
a poy o
16x* +16x° ~4x-1=0 JDZSETVS 28 DIVFNTO0 &0B. @, B,7,0 € &

8680 T} SrerBE, — %%%Z
(14

Y
Options :

3. % 32

4.« 64

Question Number : 16 Question Id : 3838233536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of all the 4-digit numbers formed by taking all the digits from 0, 3, 6, 9 without

repetition is

0,3, 6, 9 @030 D0 ©) BOZOD SN O ©OT HSTHIBO THOT

&OREIEN EIGINON 4 9030 HOPLE @A) 03 Jneo

Options :

1. % 119592

2 « 115992



3 % 211599

4. % 119952
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The number of ways in which 6 distinct things can be distributed into 2 boxes so that no
box is empty 1s

6 D9S9), 50O 2 PVOS' 2 DB 379 T B Hodd T dre
Q0§

Options :
1. % 36
2. % 64

3. « 02

4. % 34

Question Number : 18 Question Id : 3838233538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Number of ways in which the number 831600 can be split into two factors which are
relatively prime 1s

831600 O e (DT NOPONS B SEEFOSENT DSFLHOT Agre)
Q0§

Options :

1. % 8

2. % 64

3. % 32

4.4 16
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The coefficient of xy°z’ in the expansion of (x—2y+3z)° is
(x—2y+3z)" O30, 3)@(55‘5)655 xy'z> O30y Heado
Options :

1.+ 6480

2. % 3240

3 % 1620

4. % 810
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i

q 3

The set of all real values of x for which the expansion of (l25x‘ ——] is valid, 1s
X
(1251-2 —2—?] 3308 NG TEereD LD 1P GOT Q) TN
X

ENIEN x CBNE) Doded
Options :

+3)
e\ 55
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x? _ Ax+B+C,r+D
2x*+7x2+6 x*+a ax*+3
= B GOt D wons A4BHC-2D=

2x*+7x*+6 x*+a ax*+3

If .then A+B+C-2D=

Options :

1. #® 2a
2. ® -2a
3. ® ~4a

4.« 4a
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Correct Marks : 1 Wrong Marks : 0
If (sin@—cosecH)’ +(cos@+secH)’ =5 and @ lies in the third quadrant, then

(sin@+cosf)’ =
(sin@—cosecd)’ +(cosO+secd)’ =5 OAW O rched 50 S &0,
(sin@+cosf) =

Options :

1.v 242

2% 242

3. % 4
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If0<B<A<Z. cos’B-sin’A= It and 2005Ac058=@.1hcn
4 NG 22
4B ,4A
cos — —sin° — =
3 5
e o +
0< B{Aﬁ:E, 1305"13—31n"ﬁ\:\/i--l G0 ZCDSACUSB:@ ©ONS,
4 NG 242
;4B . ,4A
0" — —sin" — =
Options :
1. % 1
.
2.« 2
3.# 0
L
4% 2
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S : T . 437 Sm ., In
If @ is an acute angle and 2sin’ 9=cos4§+5m4—+ccss"?+sm4? ,then 0=

02,8 00850 BN 2sin’ 0= c084%+8in4 %’T +¢0s" %ﬁin*% ONS,

A=

Options :
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:N.A Think Time : N.A Minimum Instruction Time : 0
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If 2tan” @ —4sec@+3=0, then 2secl =

2tan’ @—4secH+3=0 oS, 2secl =

Options :
1.% 3

, % 2+2and2—+2

3% 2-42



4.«-«’2+\E
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If Sin"'x—Cos™'2x=Sin"" ﬁ ~Cos™ ﬁ ,then Tan 'x+Tan l[.—rL
2 2 x+1

—

Sin"x—Cos ™ 2x=Sin" ﬁ -Cos™' ﬁ @ow®, Tan 'x+Tan [L}=
: : x+1

Options :

Question Number : 27 Question Id : 3838233547 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Sech ™ (EJ —Tanh™ (E] =
5 5



Options :

> % log,5
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In a triangle ABC, if a=5, b=3, ¢=7, then M =
sin(A +B)
2,8 1820230 ABC & a=5, b=3, c=7 ®00s, {anm—m _
sin(A + B)

Options:

1.4 7
2. % 16

3. % 36



Lh| &
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In a triangle ABC, if , =6,r, =9,r;, =18, then COSA =

2.5 L@E’;ﬁjai} ABC 55 r=6r=9r=I18 90N, COSA =
Options :

S
1. % 13

-1 | wn W

N
¥
G|~
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2i -3j +k and 7 +2 -3k are the position vectors of two points A and B respectively
and C divides AB in the ratio 3:2. If 37 — j +2k is the position vector of a point D,
then the unit vector in the direction of CD is

20 =37 +k D00 7 +27 -3k €0 SENM A 00N B @R 30 Doty
e BT HBAW AB & 3:2 ABS’ € DBRFod. Doy D 3B
OO 3T - +2k @ond, CD By HIS &) 0Orde KO3

Options :
— (87 =57 —3k)
1. % T"'J_ /=
1z 15708
2 % 266 '
—— (87 =57 +17k)
3. ¢ 3~f_
(87 —57 +3k)
% 7\'{_ 3
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A plane 7 passing through the points 27 =37, 37 +4k is parallel to the vector

27 +3j -4k . 1f a line joining the points i +2 and 7 -2k intersects the plane 7 at
the point ai +bj +ck , then a+b+2c=

20 =37, 37 +4k Dodye H0w FAD 7 ©F a8 00 27 +37 -4k AOI%
NPOSE0 T &0B. 1 +2] DO -2k Doy 07 B9 $007
ai +b] +ck Doty SO DodW, a+b+2ec=



Options :

1.+ 31
2 % 29
3. % 23

4. %19
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A unit vector & =ai +bj +ck is coplanar with the vectors i 3/ +5k and 37 + j -5k .
If  is perpendicular to the vector 7 + j +k , then 2a*+3b* +4¢” =

g =ai +bj +ck ©F OO OOF T-37 +5k O 37 +] -5k SO0 S
IS0 G0B. T+ +k IOFD & ©020™ &oB, 20° +35 +4¢* =

Options:

1. % 1
2.4 3

3. % —|

4% 2
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a=1+j-2k,b=1-2]+k and ©=27 + ] -k are three vectors. If d is a normal
d|=

G=i+j-2k,b=1-2]+k,c=27+] -k &0 Swrch SOFen. 7 HOCW b ©

$erd8 d 2,8 @005 DO diT =2 ®onS, 3‘:

to the plane of @ and b and dsC =2, then

Options :

. %6
2. % 243

o3

4, % 2
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Fi—j+k)=5and 7.(2i +j—k)=3 are two planes. A plane 7 passing through the

line of intersection of these two planes, passes through the point (0,1,2). If the

. - T g T bf
equation of 7 1s r.(ai +bj +ck)=m, then — =
7

FT -] +k)=5 OO F.(27 + 7 -k)=3 &0 Boch deren. & Bock dhere)
DO 0P T°30° FTD S0 7, Doy (0,1,2) thowe Herod. 7 TBwg),

bhe

a

]

NaSBE0 F.(ai +bf +ck)=m ©ONS



Options :
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The variance of the data: 1, 2, 3, 5, 8, 13, 17 1s approximately
[,2,3,5,8, 13, 17 3030 QB0E) dRe3 G5 QN0)T
Options:

1.+ 31.14

2 % 29,57

3. % 30.62

4. % 32.71
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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The numbers 2, 3, 5, 7, 11, 13 are written on six distinct paper chits. If 3 of them are
chosen at random, then the probability that the sum of the numbers on the obtained chits
1s divisible by 3, is

88 D) SRS WO 2, 3,5, 7, 11, 13 Joien Trohaon. a3 Sod
ASPeD 80 A0SR DothHBI0), SO V3L 2 Ao Howie Fndo, 3 3
ZFRODVTA Tie) Hoar s

Options :

i
1.+ 20
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If 4 letters are selected at random from the letters of the word PROBABILITY, then the
probability of getting a combination of letters in which atleast one letter is repeated is
PROBABILITY @& H305'Q 98 070 008 4 98 Tre)sd) Ardy)3om
H0HE0T), SN0 28 ©F SDT TS GOT ©ET© HOTFTR)
FONTAS (10 N02FI5es

Options :



B
% 170

19

2.+ 61

7
3. % 184

29
4, % 135
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[f two dice are rolled, then the probability of getting a multiple of 3 as the sum of the
numbers appeared on the top faces of the dice, if it 1s known that their sum 1s an odd
number, 1§

B0 PREON S00DN I, @ FDE 2 EA)0B oD IS0 2.8 B
HoDS 9 BOV), & Do o 3 Ty, Hed0 SHERE He) DoerSse

Options :

L
1.% 6

w
4
s | —
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[f a random variable X has the following probability distribution, then its variance is

28 ASPIY0 )8 WOTE X GBS N0ZPISE 22rE0 (§08 A0 &0, R

DY

- X=x [ N EE 2
P(X=x) K> K K 2K

(3]

Options :

9
1. % 4

25
2. % 8

27

Lh

»
A
=)
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The mean and variance of a binomial variate X are -15—6 and % respectively. If

7
P(X}l}zl-K[%) , then 5K =

2,8 8598 Yeord X AR08 @08 s0E5aed $HON dgedeN ST %

4
AT\ % P(x;»l):l—lc(%) ©ons, 5K =
Options :

1.+ 19
2. % 3
3. % 2

4, % 11
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P and Q are the points of trisection of the line segment joining the points (3,~7) and

(=5,3). If PQ subtends right angle at a variable point R, then the locus of R is

P o800 Q &0 (3,-7) 8w (=5,3) Doty §O Bgr OGO TIE),

185866 D)oY, 28 B Doy R 3¢ PQ ©0o2 a0 TN, R Bwg), Do

A0

Options:

1.4



Ja

a circle with radius T

@ SSPQOmT Kie> Syedo

a circle with radius /409
5 = V409 P5rgo ™ e S0

a pair of straight lines passing through (—1,-2)
3 % (—1,-2) Doths Hor® D HBE Ba 0Swii20

a pair of straight lines passing through (1,2)
4 % (1,2) Doty o D HSY Bar asnio
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(a,b) is the point to which the origin has to be shifted by translation of axes so as to
remove the first-degree terms from the equation 2x* -3xy+4y” +5y-6=0. If the
angle by which the axes are to be rotated in positive direction about the origin to
remove the xy-term from the equation ax’ +23abxy+by* =0 is 0, then tan26 =

26 =31y +4)* +5y-6=0 Q8GR0 0B NErS DO SOfodERs
30 Do NSroes @8 H838S T 100 (a,0) Do 58 & 268
BAE. ax® +23abxy +by* =0 DFBEI0 DO xy -DTR) SOAOITRE e
00y B0 eFed § S0 SIS (25060 TOhSIOR G0y, tan20 =

Options :

1.% 4



2.« 60

wN

4.% 15
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A(1,-2),B(-2,3),C(~1,-3) are the vertices of a triangle ABC. L, is the perpendicular

drawn from A to BC and L, is the perpendicular bisector of AB. If (/,m) is the point
of intersection of L, and L, , then 26m-3=

A(1,-2),B(=2,3),C(~1,-3) &0 82020 ABC G, 2T7en. A 08 BC & A
©02 B L, HBAW AB Gy ©02) & $0%S B9 L,. L, D8 L, ©
20 2o (I,m) ©ond, 20m-3=

Options:

1. % 26/

> % 89/

3. v 131

4 % 431
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The area of the parallelogram formed by the lines L, = Ax+4y+2=0,
L,=3x+4y-3=0, L, =2x+ uy+6=0, L,=2x+ y+3=0, where L, is parallel to

L, and Ly is parallel to Ly is

L1, L2 § Qr0e580mmad sBa50 Li, L4 § SalP0SE0M €5a)) o) )¢
L =Ax+4y+2=0, L,=3x+4y-3=0, L, =2x+ yy+6=0, L, =2x+y+3=0,
BT JE)B Qar0eE Weh)0 GNg) FTO50

Options :

4.4 3
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If A(1,2), B(2,1) are two vertices of an acute angled triangle and S(0,0) is its

circumeenter, then the angle subtended by AB at the third vertex is
A(1,2), B(2,1) &0 2.8 ©sn8e (@220 Bng), Bock 3T 805N $(0,0)
HEZ0SRB, Soched 390 3¢ AB T E0

Options :

1.¢



N
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If the angle between the pair of lines given by the equation ax” +4xy+2y* =0 is 45°
then the possible values of “a’

ax’ +4xy+2y* =0 DoDEBR0 T 33 5A DG B 0500 Hess Eeao 45°
ONS ‘a’ 8 5N NN

Options :

are —3 or 21
1. % -3 6(3‘ 21

are -6i4J§
, v 6143

are -6+ 24\5
3 8 —6124\2



do not exist

4 % C50C3aY)
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A circle passing through the points (1,1) and (2,0) touches the line 3x-y-1=0.1If

the equation of this circle is x* +y° +2gx +2fy+c¢ =0, then a possible value of g is
(1,1),(2,0) Dotye K0 D 5980 Jx-y-1=0 B & 0))3N0d. &
S0 0%} NDEBE0 x* + )7 +2gx+ 2y +¢=0 @ONS, g 8 I 28 Dend

Options :

L
1.¢ 2
3
2.% 2
3.% 06
4, % =3
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A circle passes through the points (2,0) and (1,2). If the power of the point (0,2) with

respect to this circle is 4, then the radius of the circle is

2,8 3980 (2,0), (1,2) Do) HOTTRSI0R. & S9B0 Saars (0,2) Doty
aB0E) Dok 48 4 oS, & S59S TG0

Options :
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x-2y-6=0 is a normal to the circle x* +y* +2gx+2fy—8=0. If the line y =2
touches this circle, then the radius of the circle can be

Xy +200+2f-8=0 SHTR8 x-2y-6=0 2.8 ©D002 BY. & SHTR),
y=2 D8 DD D97, € T8 ysrdo sHORS Dendd

Options :

1, % 32

2. % 6

3.+ 4



4% V18
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The line x+ y+1=0 intersects the circle x*+y* —4x+2y—4=0 at the points A and
B. If M(a,b) is the midpoint of AB, then a—b=

x+y+1=0 dEF B, x*+)" =4x+2y-4=0 ST A HO0N B Hohehe
38 HOBY0AH. AB G0E), N3 Docvay M(a,b) eond, a-b=

Options :

1. %0

2. % 1

3, % 2
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A circle S passes through the points of intersection of the circles x* + y* —2x-3=0
and x*+y* =2y =0.1f x+ y+1=0 is a tangent to the circle S, then equation of S is

S &R 9980 x*+y =2x-3=0 HOAW x*+y =2y =0 SHT PO
20ohe Hom Fehod. SyB0 S 8§ x+y+1=0 2.8 )8 09 ©ons, S TS,
N0

Options :

1 % 2x°+2y° +2x+2y+3=0
5 % 2xT+2y* —2x-2y+3=0
3 % X +y* =2x=-2y+3=0

4 v 2% +2y* =2x-2y-3=0
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If the common chord of the circles x* + y* =2x+2y+1=0 and

X' +y* =2x-2y-2=0 is the diameter of a circle S, then the centre of the circle S is
¥4y =20+2y+1=0 HOAN x*+)'-2x-2y-2=0 ST &I &S 2.8

SIB0 S TWE), FIINSB, & I9B0 S Y 0|80

Options :

63
L« \2 4
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(1,1) is the vertex and x+ y+1=0 is the directrix of a parabola, If (a,b) is its focus

and (c,d)1s the point of intersection of the directrix and the axis of the parabola, then
a+b+c+d=

2.8 Hom50000 T30E), 390 (1,1) 8050 AcHe B x+y+1=0. (a,b) 8
B0 (¢,d) 8 HTHOADHO TwE), A0Eh TP A0 BT PO DO
©ONS, a+b+c+d=

Options :
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The axis of a parabola 1s parallel to Y-axis. If this parabola passes through the points

(L,0), (0,2), (=1,-1) and its equation is ax” +bx+cy+d =0, then i—jz
2.8 ATIOO0N0 B3NE), @30, Y- T8 Ndroesdo m &od. (1,0), (0,2), (-1,-1)
D00y K0 D & HTHO0H0 NEBEI0 @ +hx+cy+d =0 GONS,
ad

o

Options :

—_
#
o0 | Lh

2 | W

3 % —10

4.+ 10
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If the focus of an ellipse is (~1,~1), equation of its directrix corresponding to this focus

is x+y+1=0 and its eccentricity is 13 , then the length of its major axis 1s

2
28 B S0 ) 78 (-1,-1), & D8 020800 AAHS B2 Nad¥Be0

x+y+1=0 0050 T Bng) &B) 0\ % @ONS, T ATE.0 )

C8o)

Options :

1.4 2

2. % 1
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If the normal drawn at the point (2,~1) to the ellipse x* +4y* =8 meets the ellipse
again at (a,b) then, 17a =

¥ +4)? =8 B8 98 (2,-1) Hocre 5 A @02 B HF H59TR)
S0R (a,b) Do) S oA, 17a =

Options :

1. % 23

2.+ 14



3. % 37

4. %9
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v, 3

P(#) 1s a point on the hyperbola L —% =1, Sis its focus lying on the positive X-axis
a

and Q=(0,1). If SQ:\/% and SP =6, then 0=

e, 1? =1 ©80%00H0 R P(9) 8 Dothay, G X-©80 D &) T

~

=
T8) S 8050 Q=(0,1). SQ=+26 SO SP=6 oS, ) 0=
Options :

a

1.% 6

N
®
I

W
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If A(=2,4,a), B(1,5,3), C(c,0,4) and D(-5,6,1) are collinear points, then a+b+c=
A(-2,4,a), B(1,b,3), C(c,0,4),D(-5,6,1) &0 SBDAD DotdYBS, a+b+c =

Options :

1. % 4

2.¢ 8

3 %12
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A(l,-2,1)and B(2,-1,2) are the end points of a line segment. If D(a, f3,7) 1s the foot

of the perpendicular drawn from C(1,2,3) to AB, then o + f* +7* =
A(1,-2,1) DOAW B(2,-1,2) en 2.8 T DO TnE), ©0ehs DO,
C(1,2,3) S0& AB § A ©02) ardo D(a, f,7) @oN, o* + 2 +7* =

Options :
1.+ 18

2 % 14

3.%9



4. % 27
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The foot of the perpendicular drawn from the point (-2,~1,3) to a plane = is (1,0,-2).

If a, b, ¢ are the intercepts made by the plane n on X, Y, Z-axes respectively, then
Ja+b+5¢c=

(-2,-1,3) Hocre 08 1 $erR8 A ©02 210 (1,0,-2). 1 $00 X,Y,Z -
BFO 2 DN BOSOPOTE SN a, b, ¢ ©ONS, 3a+b+5c =

Options :

1. % 39
2. % 26
3. ¢ 13

4, % 0
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o (4x* —6x)(4x* +6x+9)

i

Options:

1.
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; 4
(4' - 1] cot(xlog4)

sin(xlog4)log(1+ x? log4)
k . e

; fx#0

If the real valued function f(x)=

k _

1s continuous at x =0, then e

x=0 98 Qe S (DOHO

. 4

4% -1 t(xlog4
f__‘ ( )W“”: ) . x#0 ©oNSHI®
J(x)= lsiu{x log 4)log(1+x" log4)

k » x=0 000D
D) DS, €' =

Options :

1. % 1

2.« 4



3 % e
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A function /:R =R issuch that yf (x+ y)+cosmxy=1+yf(x).If m=2, then
fx)=

3 (x4 y)+cosmry =1+ (x) 0GR gereD P 28 (IHH0 f:R >R God. m=2
o8, f(x)=

Options:

1. % —28in2xy

2sin 2xy

3, % Yy

4.« 2x°
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If y= \/sin(IDgZx)+ Jsin(logEx} ks \/sin(lug 2x)+..00 , then i—L =
7

y= \/sin{!ng 2x)+ \/sin{lng 2x)+ \/sin{lug 2X)+..00 ©OONS, -j}: =
X

Options :

cos(log 2.x)
1. % 2x(2y-1)

cos(log 2.x)
> % (2y-1)

cos(log 2.x)
3. \‘:.-"? _Y[Z_}} — 1}

sin(log 2x)
4 x X(2y-1)
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e | o S :
If y=Tan™" — (Z'T),}_Bi sm{glx) , then d—}=
) 3xsin“(2x)—x

dx

| 5 :
=T sin (2,r):3x SIH{EI) — dy _
3xsin”(2x)—x dx

Options :

6xcos(2x)—3sin(2x)

. % X*—sin’(2x)




6xsin(2x)—3cos(2x)

5> % x* +sin’ (2x)

2xcos(2x)—sin(2x)

3 % x* +sin’(2x)

6xcos(2x)—3sin(2x)
4 x* +sin*(2x)
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Derivative of (sinx)™ with respect to xin®)

x5 65038 (sin x)* T30E), @350

Options :

5

(sinx)*™ [(sin x)log(sin x) + xcos x|

_— x5V [ ¢ cos x(log x) +sin x]

(sinx)" :(sin x)(log(sin x) + x cosx}:

x99 xcos x(log x) +sin x]

sinx=1

X [ x cos x(log x) +sin x]

3 % (sinx)*" [(sinx)lng(sinx)+x-::crs:c]

sinx

X [x cos x(log x) +sin I]

4 x (8INX)° [ (sin x) log(sin x) + x cos x|
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For a given function y= f(x), 0y denotes the actual error in y corresponding to actual
error 6x inx and dy denotes the approximate value of dy . If y= f(x)=2x"-3x+4
and dx=0.02, then the value of dy—dy when x=5 is

B8 DAH0 y=f(x) &, S ez Bassn dx & edheaor y S =67
NBETR) 8y AP0 B0 Jy TE), GLTAN0) NI dy
APONOB. y = f(x)=2x% =3x+4 OO Fx=0.02 @SB, x= 50055
0y —dy QRE) VN

Options:
1.+ 0.0008
2 % 0.008

3. # 0.0004

4. % 0.004
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The length of the normal drawn at f :% on the curve x =2(cos 2t +tsin2f),
y=4(sin2t +1cos2t) is
x=2(cos 2t +sin2e), y=4(sin2t+tcos2t) O SE0 D r=§ N A AN STALSYRA

0 &%)

Options :

i«.“l+fr:

1.% T

5 o MW+ 77

3 % 47

T -9
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If Water 1s poured into a cylindrical tank of radius 3.5 ft at the rate of 1 cu ft/min, then
the rate at which the level of the water in the tank increases (in ft/min) is

3.5 O TG0 o) 2.8 AFarsd 7505 SR8 ASWPE 1 s ek
Ta3)% A FR)) VB, 25050 'R A5 BT B (@K/A10)

Options:

1. % 154
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y=2x"—8x” +10x—4 is a function defined on [1,2]. [f the tangent drawn at a point
(a,b) on the graph of this function is parallel to X-axis and a €(1,2), then a=
y=2¢" -8 +10x-4 @IA [1.2] 2 VG500 BN 28 (HDOHO. & (N0
T308), P2 2 (a,5) Doy S KNS D)8 B9 X-0FNE ddroddorr &od
0050 ae(l,2) ®ONSB, a=

Options :
1.% 0

2. % 5

3. % 1

P
)\
tea | L
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If m and M are respectively the absolute minimum and absolute maximum values of a
function f(x)=2x"+9x* +12x+1 defined on [-3,0], then m+M=

m aDOA M €3 SEIT [-3,0] 2 A DST 28 (L0000

F(x) =22 +9x% +12x+1 G0E), Do) 8 DO DB 10 MENSSS,

m+M=
Options :

1.+ =7

2. % 0
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sec x
I dx =
3(secx+tanx)+2

Options :
X
| tan —+1
2
EMg——?——+c
tan —+35
1. ¢ 2




5 31&n%+4
e T +C
N Jil

5« log[3secx+2tanx|+c

4 « log|3tan x+2secx|+c
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dx
% e
4+3cotx
Options:

—iiug|4+3mt;r| b
1.% 25 25

s log|4sin x +3cos x| +2i5:r +c

2.« 25

il+ug|4:~:inx+.“M.t{jrt».“,ar| 3 e
3. % 25 25

ilﬂg|4+3€ﬂtl‘|—i_r+t
4 % 25 25
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dx
J (x+DVx> +4

Options :

1 [x+]1
—J -
1. % 2 I+2
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If ‘[E'T{.lj +x° =x+4)dx=e"f(x)+c, then f(1)=
e (x +x° —x+4)dx =" f(x)+c ®onsd, f(1)=

Options :

1. % 0



2. % 1
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im,

b )
' _‘J ¢ dx B

#, Ny
i See” Xk ('Ean‘“‘z.x —1)(sec’x—1)
5

Options :

T
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3 % 15
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The area of the region (in sq. units) enclosed by the curves y=8x* -1, ¥=0, x=-1
g q y : :

and x=11s
y=8x -1, =0, x=-1,x=1 JFOT 8500 2& (oo FTe50
(5. ArE &)
Options
15
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If the equation of the curve which passes through the point (1,1) satisfies the

differential equation o 2l , then the equation of that curve is
dx  Sx+2y-3

(1,1) Doy Hoa ST S0 Tk, HEsemo L 2 Z=IH gukes

dx Sx+2y-3
DEBETR) SoR DO, & S(¥0 Ty L0
Options :
1 % X +5xy—y* +3x-3y—-5=0
2. % x2+5xy—y* +3x+3y—-11=0

3 % X°=5xy—)°-3x-3y+11=0

4 v X2 =5x—y*+3x+3y—1=0
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The general solution of the differential equation

(6x° —2xy—18x+3y)dx— (x> -3x)dy =0 is

(6% = 2xp—18x+3p)dx — (F = 3x)dy =0 38 dNEEEI0 Thg), eed
AT

Options :

| @ 2x =x*y—9x* +3xy+c=0
43 2 2 )

5 % 4x" —2x"y—6x"+6xy+c=0

= v,
3 % 2x"—4xy—y —x+3y+c=0

4 % 3x* +5x—2y° —4x—2y+c=0
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The range of gravitational forces is
KooeEe sE86 227 TP 5

Options:

1 % 107" m

5 % 107 m

infinity
3. ¢ @00

4 % 107 m
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In a simple pendulum experiment for the determination of acceleration due to gravity,
the error in the measurement of the length of the pendulum is 1% and the error in the
measurement of the time period is 2%. The error in the estimation of acceleration due to
gravity is

haeds & s8erd) 88,08 28 oS NEroS Sof FEHSR Sod
820 1% 00 Eomdd FOoSR S B8N0 2%. Hds 585808
88,0598 830

Options:

1. % 1%

2 % 3%

3. % 4%

4. & 5%
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The position x (in metre) of a particle moving along a straight line is given by
x=t'-12t+3, where ‘t" is time (in second). The acceleration of the particle when its
velocity becomes 15ms™ is

28 26T Fod SB3e0tH) 28 §60 &) TS0 x (WOH &) = -12t+3, P
2559056, 358 ‘T ©FO TON (Vo S). o B, SKo 15ms™
BONNYC ) & 860

Options :

1. % 15ms™



% 24ms™

3«18 ms™

4 % 12 ms™
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The maximum horizontal range of a ball projected from the ground is 32 m. If the ball
is thrown with the same speed horizontally from the top of a tower of height 25 m, the
maximum horizontal distance covered by the ball is

(Acceleration due to gravity =10 ms™)

AP NOR (8 20 TONIAN 2.8 206 B [0 a5 32 m. ) 25 m (fe
2,8 B0 DN0A 208 BT JAS § B2 SrodBomr MO, 208
DOSPEIONS 185 § ede Nadroedd rdo

(D&ed ¢ & s8ea0 = 10ms™)
Options :

1. ¢ 40 m

2. % 57 m

3. % 60m

4.% 75 m
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A block of mass 5 kg 1s kept on a smooth horizontal surface. A horizontal stream of water

coming out of a pipe of area of cross-section 5 em’hits the block with a velocity of
5ms” and rebounds back with the same velocity. The initial acceleration of the block is
(Density of water is | g/cc)

28 DN § 20 Srosd Seo 5 kg (B50°3 o) 28 AR Goda&od.
NGBS ITOs0 Sem’ KO 28 FOO Hod 2oheH TR a8 §aa

NSr0SE A3 [Harsro Sms” Fod B0k &8 SO S53TE HIS ©F Ko
DGO, & AR Ty SO & 5560
(A& 20| =1 glec)

Options :
1 % 10 ms™
2. 2.5 ms :

3 % 12.5ms™

4 ¢ 5ms™
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A constant force of (8? —2]+6]:<} N acting on a body of mass 2 kg displaces the body

from (Zf +3j —4IA<) m to (4? —3] +6]E} m. The work done in the process is

5935079 2 kg 156 2,8 5806 B DTS 28 D@0 (8i-2]+6Kk) N,
& 509 (2i+3)-4k) m 0B (41-3j+6k) m % F00 TR, &
NBOHS' 280 O

Options :

1. % 721]
2.+ 88 ]
3 % 44 )

4. % 361
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A ball ‘A’ of mass 1.2 kg moving with a velocity of 8.4ms™ makes one dimensional

elastic collision with a ball ‘B’ of mass 3.6 kg at rest. The percentage of kinetic energy
transferred by ball ‘A’ to ball ‘B’ is

8.4ms” SKOS E0enthd) 1.2 kg (355073 56> 2.8 2008 ‘A’, DTS &)
3.6 kg |3350°3 o) HTE 208 ‘B’ & ENN0H BTNE ©DAre0 26D,

208 ‘A’ 0G4 208 ‘B’ §) DT TAhdS ez 38 Fe0

Options:

1. % 25%



2. % 50%

3. v 75%

4. ¥ 60%
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A metre scale is balanced on a knife edge at its centre, When two coins, each of mass 9 g

are kept one above the other at the 10 cm mark, the scale is found to be balanced at 35 cm.

The mass of the metre scale is

28 OB ey o 0|80 S $8TS B GoD g HBS DT,

288,63 9 g (35078 &) BO PETOD 28TV R 2863 0 10 em Jgriio

6 &ODS, 30 35 ¢m 2P0 &) 10§ VA8 I )E. aAdEID Ve (3507

Options :
2. v 30¢g

4.3360g
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A body of mass ‘m’ and radius ‘r” rolling horizontally with a velocity ‘V’, rolls up an

4

inclined plane to a vertical height V— The body is
g
‘m’ (35503 B0 ‘* TR0 SO, V' Ko § & dsroddor SN

28 Q) 28 e 0 D8 Ll § 923 ©02 0HF §008. & SV
g
Options:
a sphere
1. % 2.8 ﬁsq;gg

a circular disc

5 % W8 9TV Y

a circular ring
3 v 28 99850 508€0

a solid cylinder
4 % 208 NN DO
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A massless spring of length ‘I’ and spring constant 'k’ oscillates with a time period ‘T’
when loaded with a mass ‘m’. The spring is now cut into three equal parts and are
connected in parallel. The frequency of oscillation of the combination when it is loaded
with a mass ‘4m’ is
I e, ‘K’ 200 W00 SHOAN B0 (3635072 fier 28 |R)0M%,
‘m’ (335073 K0 2P0, Irada ), ‘T 898857008 Gomren TRod. &
R0 93708 a7¢) 3T 2PN SBO0D), NFoSSOM SOJFE. &
NOTIPHO 2, “4m’ (OS50 o) 2PTPR), Iraey ) BOTE r)dsen
Options :

2
1% T

2
2 % 3T
3
3.8 T
4w 2T
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An object of mass ‘m’ at a distance of ‘20R” from the centre of a planet of mass ‘M’ and
radius ‘R’ has an initial velocity ‘u’. The velocity with which the object hits the surface
of the planet is

(G-Universal gravitational constant)

M’ (855073, ‘R’ arsrgdo e 2.8 [K5ro G3ng) So|do shod 20R’ Brdod, ‘m'
(5073 K1) 28 S0a) BE) Ft50 ‘0’ $OA GOH. & SR (e T8, HerR)
&5 M0

(G-3 5 Hhked § 900%0)

Options :

zlgquh
u-+
| v I0R
15
uﬂj96m}
, % I0R

[3 196{@«1}"2
u_—
- 10R

[2 19(jnn}-1'i
u_—
L x 10 R
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A simple pendulum is made of a metal wire of length ‘L’, area of cross-section ‘A’,
material of Young’s modulus ‘Y’ and a bob of mass ‘m’. This pendulum is hung in a bus
moving with a uniform speed ‘V" on a horizontal circular road of radius ‘R’. The
elongation in the wire is

L’ 8P, ‘A’ DTS FT50, Y’ 0900 1Hess0 Ko 2.8 5y e SHOAN
‘m’ (395073 11 MHOT 2.8 OIS ©E0 SOIrE TADAG0E. & SO
8 82 NSroS80r R’ arsrd0 o) S9&E w30 V’ 2B D)
28 208 (BerddFd. SiS' Fhde

Options :

L JPRE v
1.« RAY

mgL
2.% AY
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If the excess pressures inside two soap bubbles are in the ratio 2:3, then the ratio of the

volumes of the soap bubbles is

Bodh Men) WAHO SHe @SS ETO AA)S 23 BONS Hen) Wi

DIDBIPET DA )E

Options :

1. & 3:2



2. % 9:4

3.v 278

4, % 81:16
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The velocities of air above and below the surfaces of a flying aeroplane wing are 50 ms™

and 40 ms™ respectively. If the area of the wing is 10 m? and the mass of the aeroplane
is 500 kg, then as time passes by (density of air = 1.3 kg m?)

28 ADDAS) NS0 BE) DS HOAW (808 &dSere G MO Jrrew
SEOM™ 50 ms™ OO 40 ms™. BE) T30 10 m? HOAN DFI0 (K93503
500 kg €00, 500 KEIIED () o|dé =13 kgm?)

Options :

the aeroplane will gain altitude

1 2P0 ) E0F0 AN

the aeroplane will experience weightlessness

5 % DATS0 TGS V3R eIV

the aeroplane will fly horizontally
3. % DATV0 § 323 ddrodBorr AH&eEod

the aeroplane will loose altitude

4 % DATAO0 &) T 030 SiHeod



Question Number : 95 Question Id : 3838233615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A pendulum clock loses 10.8 seconds a day when the temperature is 38 °C and gains

10.8 seconds a day when the temperature is 18 °C. The coefficient of linear expansion

of the metal of the pendulum clock is
2.8 S8 AB0RS0 38°C &eftie 5¢ F228) 10.8 DEDO 500 Sy

5005 18°C &§f(1ied ¢ T2 10.8 DO 500 7250 Fod, S©f
KEOSPERY) S'aro a3%) BUs 58S heaso

Options :

1 % 7x107° °C™
, % 1.25x107 °C™
3 % 5%107° °C™

4. ¢ 28x107°C

Question Number : 96 Question Id : 3838233616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A liquid cools from a temperature of 368 K to 358 K in 22 minutes. In the same room,
the same liquid takes 12.5 minutes to cool from 358 K to 353 K. The room temperature
1S

28 9650 22 dvaroS 368 K (11 00 358 K § 0T, o3 K0S, &0F
65550 12.5 AT 358 K 08 353 K 50 SQT. @900, 66 Gk feh



Options :

1. ¥ 2?50(3
, % 27.5K
5 % 30.5°C

4 = 30.5K
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For a gas in a thermodynamic process, the relation between internal energy (U), the
pressure (P) and the volume (V) is U =3+1.5PV. The ratio of the specific heat
capacities of the gas at constant volume and constant pressure is

2.8 &S HEADS' 2.8 Trolne) g} @085 38 (U), a0 (P) SO
DIDOIPEIO (V) 635 D020B0 U=3+1.5PV. D8 0060 $BO G
BT ¢ T DFR VT NS

Options:

bl
1. % 3

h | e

Lad | e



e |

Question Number : 98 Question Id : 3838233618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At a pressure P and temperature 127 °C, a vessel contains 21 g of a gas. A small hole is

: o P
made into the vessel so that the gas in it leaks out. At a pressure of 3 and a temperature

of t °C, the mass of the gas leaked outis 5 g. Then t=
250 P Bk &S 127°C & 28 T 21 g raineged $OAASH.

TOIN) T oG 20D IF) A0 TS DY) 800 TOHRRIE.
2GS0 %P DB G t°C G 5 g araie) 2Fle H0G OHEF IF)eb.

OOV t =
Options:

\ % 273 °C
5 » 11°C
5 % 350 °C

4 % 87°C
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The tension applied to a metal wire of one metre length produces an elastic strain of 1%.
The density of the metal is 8000 kgm ™ and Young’s modulus of the metal is

2x 10" Nm™. The fundamental frequency of the transverse waves in the metal wire is
2,8 DA by e 28 o) o) g)ﬁf@ DETAOBAAN S5 1% VBTNE Dyedd)
et R0, Seri) o6 8000 kgm™ SHB0 ey AHoR fheaso

2% 10" Nm? eoond, ¢srs) e S58 SBOme (R Dreyso

Options:

| % 500 Hz
, % 375 Hz
3 v 250 Hz

4 » 125 Hz
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Two closed pipes when sounded simultaneously in their fundamental modes produce 6
beats per second. If the length of the shorter pipe is 150 cm, then the length of the
longer pipe is

(Speed of sound in air = 336ms™)

Bk TR &) FEreD 857006 aed [2redadE §023¢ B’ & 50D
DRI 28 1EF 6 JV)odTeD e ) Daron. ¢S Fo ey

150 cm 900 SIS FE0 &rka)
(TOS B4 5B = 336 ms™)
Options:

1 « 168 cm



5 % 184 cm

3 % 176 cm

4 % 192 cm
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An object placed at a distance of 24 ¢m from a concave mirror forms an image at a
distance of 12 cm from the mirror, If the object is moved with a speed of 12 ms™, then

the speed of the image 1s

28 ErsS 383690 08 24 em ATE0S GO 2.8 SR B0,
8020 81690 0 12 em Er80e HEIAIG. SNy 12 ms™ HAS
$OO0NN, |e32)023e AR08 G

Options:
1 % 24 ms”
2. 3 mﬁ-l

3 % 6ms’

4 % 12ms”
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When the object and the screen are 90 ¢cm apart, it is observed that a clear image is
formed on the screen when a convex lens is placed at two positions separated by 30 cm
between the object and the screen. The focal length of the lens is

50 B0 B8 90 em ArE0S &), 8 H02rsS 5 30 cm
ArE0S &) BO e 58 SSabay) HB0K BB %5 GODSY
)RR (D300 B NGBS B0, §€2380 TBNE) 2500

Options :

1. % 21.4 cm

2.« 20 cm

3. % 30 cm

4. % 30.8 cm
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When a monochromatic light is incident on a surface separating two media, both the
reflected and refracted lights have the same

B0 OSPITOR FK TR 00 a1 8 3¢ 5708 HASN I, DTHES0
58050 (82580 BoAS oen Boyr 23 5 R Goerow.

Options :

frequency
1 @ DRSO



wavelength

L [elelilnlel{e

velocity

3 % 360

amplitude

4. % 30D DOE
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The electric flux due to an electric field E = (8i+13j) NC”' through an area 3 m? lying
in the XZ plane 1s

E=(8i+13)) NC" D48 31680 S0% XZ 0w, 3 m? JT050 T 00 dsd
ZaTT0

Options :

1.+ 39 Wb
2 % 24 Wb
3. % 63 Wb

4, % 15 Wb
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A capacitor of capacitance ‘C’ is charged to a potential *V* and disconnected from the
battery. Now if the space between the plates is completely filled with a substance of
dielectric constant ‘K’ the final charge and the final potential on the capacitor are
respectively

‘O TR EORS 2.8 TIRLH, V' FBAHOH $33%0 T arse)d
208 36 T, aH)D S Hig 2 Jned) F3¢ oroko K’ Ko
HTGOT A0, Taredd a0 B S3F0 HO0M S0 FRVANS S&IT

Options :

KCV and E
K

1. %

CV and E
2. ¢ K

('—Vand KV
3.8 K

CV \%
—and—
4. % K K
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A voltmeter of resistance 400 Q) is used to measure the emf of a cell with an internal

resistance of 4 Q. The error in the measurement of emf of the cell is
4Q ©088)860 Ko 2.8 HE0 TE), emf D Fenthrdd 400Q AFG0 Ko 2.8
S DI GHBrHOTE. D0 emf FOSS'A B0

Options :



1. % 1.01%
2 % 2.01%
3. % 1.99%

4.+ 0.99%
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When two wires are connected in the two gaps of a meter bridge, the balancing length is
50 ¢cm. When the wire in the right gap is stretched to double its length and again
connected in the same gap, then the new balancing length from the left end of the
bridge wire is

28 O 1D ﬁm% B0 PO Boch B EORSNIW, HOHON

&8 50 cm. & a7 SR S R s Bodoeen ety m FHA
SHer &oF ardsS' Lol DG S 5D DG 0B 8§ Hoeherd Sresad

Options:
1. % 80 cm
2.+ 20 cm

3 % 33.3cm

4. % 66.6 cm
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A magnetic field is applied in y-direction on an & —particle travelling along x-

direction. The motion of the & —particle will be

x-03S (DOSTES0tHND) 8 o —%690 D y-OFS @0HR) 08 3 (@)

00T, a —5e90 ARNE), LYed0

Options:

along x-axis
1 % X-@8 0 J0DVE €0LNOE

a circle in xz plane

5 v XZ SOIMS’ 2.8 SYTSS EF 565 S0N0H

a circle in yz plane

3 % YZ SOINS 2.8 SyTsS 8 565 G0N0

a circle in xy plane

4 % Xy SOINS’ 2.8 39T 885" G0oenod
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A straight wire carrying a current of 2y/2 A is making an angle of 45° with the direction of
uniform magnetic field of 3 T. The force per unit length on the wire due to the magnetic field
1S

22 A DS (D) SOB &) 2.8 B A 2.8 N8BS wohr 08 § (03 T
B3 45° F0 TR O. @OHRT) TS0 S0, 5708 FthIS S 200

Options :



1. 4 4 Nm_l

2. ® 8 Nm-l

3. 6 Nm-l

4' ® 3 N]n-l
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The magnetizing field which produces a magnetic flux of 22 x 10 Wb in a metal bar of
area of cross-section 2 x 10~ m’is (susceptibility of the metal = 699)
DETIS 3FO50 2 x 107 Mo a8 Siry 65" 2 x10° Wb echr)08

DTSN &5 )8 T D) 085860 TOW F(S0 (S5 SN =
699)

Options :
| = 2500 Am’
5> 1250 Am’

3 % 3750 Am’

4 % 5000 Am’
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The energy stored in a coil of inductance 80 mH carrying a current of 2.5 A is

2.5 A IS (D) EO0GS) 80 mH [HIES0 Ko 2.8 & S e séoR
38

Options :

| %1257
5 % 0.75]
3¢ 025]

4 % 0501
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A capacitor and a resistor are connected in series to an ac source. If the ratio of the
capacitive reactance of the capacitor and the resistance of the resistor is 4.3, then the
power factor of the circuit is

28 BPRLD B 2.8 AL 1FSS 2.8 ac 2958 Senddaron. Tarded
5085 (HATE0 8% ABLE0 TEy AFE0 4:3 MBS &0, SO0
T8y, s 5080

Options :

1. 03

, % 0.8



3 v 0.6

4 % 0.5
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For the displacement current through the plates of a parallel plate capacitor of capacitance

30 uF to be 150 pA | the potential difference across the plates of the capacitor has to vary

at the rate of

30UF SRR e 28 Narodd a0¥e Sarabd oo Yo A
D0 150 pA @HBZ B ee) 268 FBINONS 0 SrGSseR
(o]

Options:

1.3310‘;5[

2. o 5 Vﬂ_l

3 %15 Vs~

4 % 20 Vs~
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The work functions of two photosensitive metal surfaces A and B are in the ratio 2:3. If
x and y are the slopes of the graphs drawn between the stopping potential and frequency
of incident light for the surfaces A and B respectively, then x:y =

Bod S APE merss S aTy deren A HOO B Bng) H9) (Haaire dn)e
2:3. AFUE FBVCHO HBAM DS 5708 Frde)sOR AN (TS e
QS A B0 B 7080 (E30e300 x 0050 y 000, X:y =

Options :

2. ® 2:3
3 % 4:9

4. ® 2:5'
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In hydrogen atom, the frequency of the photon emitted when an electron jumps from
second orbit to first orbit is ", The frequency of the photon emitted when an electron
jumps from third excited state to first excited state is

2.8 BB HEITENYES’, 28 IO B0chad 88 5 00 F0cied 85 550 DA
ETOEN FEPS FRIN0 F. JOITR S0P &Beed an o
J0AE &8 FPa0d HASYE GBS HEFS TIN50

Options :

1.% 2



w
#
oo | —h

4. %1
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[f the ratio of the radii of nuclei izX"“ and HAIH is 5:3, then the number of neutrons in
the nucleus X 1s

o X" 5000 A7 So|dse FRPTe IS 5:3, 0N X S0(350S
OPHETR © DO

Options :
1. % 52
2. % 63

3 % 27

4.+ 73
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Half-life periods of two nuclei A and B are T and 2T respectively, Initially A and B
have same number of nuclei. After a time of 4T, the ratio of the remaining number of
nuclei of A and B is

A 005 B @3 30 F0895e @ #e eren G T 005 2T.
S A 00 B D35 025’ Fo|3508 EOR 6:3)9. 4T 00 ST,
A 8050 B ©F" OS So35e e

Options :

1. % 1:16

2« 1:4

3, ® 1:1]

4. ® 1:2
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Match the devices given in List-I with their uses given in List-I1

21 S 0N [DES IBET R D11 S A SIS 3¢S
SITBRTPOS 22365050

List — I List - II
e - | arde -l
a | Transistor e | Filter circuit
€7 YN0 R0 Seaho
b | Diode f | Voltage regulator
SBr& SB2 AaDo|eeastd
¢ | Zener diode g | Rectifier
20)0 GBr& DEOE) e
d | Capacitor h | Amplifier
Bratdd Q%0
The correct answer is
NIOINPAN AN Te!

Options :

1 xa-hb-gc-ed-f

> xa—hb-fc—ed-g

3wva-hb-gc-fd-e

4. % a—e,b—-h,c—g,d-1
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To get output | for the following logic circuit, the correct choice of the inputs is

1808 ), S00H0S AP0 1 OSSO AFFenen

A
B Y

Coe

Options :

. x A=1,B=1,0=0
, «x A=0,B=1,C=0
3 vA=1,B=0,C=1

. %« A=0,B=0,C=1
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The maximum distance between the transmitting and receiving antennas is D. If the

heights of both transmitting and recetving antennas are doubled, then the maximum
distance between the two antennas 1

0 OO (TS SOTT™)© G5 i) SrSe D. DG DKW (Pars
SOT)O RO BEON) TN, O SOBTYO ¢3¢ K8 BTG

Options:

1. % 2D

2,¢D\E



3. % 4D
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If n,[ represent the principal and azimuthal quantum numbers respectively, the formula

used to know the number of radial nodes possible for a given orbital is
1,1 @) SO DT, DEANSS T 080 NODLEN NS, BN SOYEFS &

s BAMS SB © oD & BeDEHErS GHTrAoT e

Options :

1. % (”_"’]

5 % (rs—.-’+l}

3.&,(1"1—!—1)

4 % (11—2)
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I the radius of first orbit of hydrogen like ion is 1.763x 107 nm, the energy associated
with that orbit (in J) 18

TEER SO0 08T Fnced &8 s TG0 1.763x107 nm @ond, & 85 &
@005DS B (1o )

Options :
1. % +1.962x107"

2. v =1.962x107"

3. % —0.872x107"



4, % —2.18x107"
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If first ionization enthalpy (A H)values of Na, Mg and Si are respectively 496, 737 and

786 kI mol ', the first ionization enthalpy value of Al (in kJ mol™ ] will be

Na, Mg s0050 Si © (Ne &BOTEAS 058 Densden (AH) St 496,
737 58050 786 kimol™ @onSeS, Al T, DG ©TIFTEAS 05O
e (kI mol”' &)

Options :

1.4 375
2. % 760
3. % 400

4. % 790
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Among the oxides S10,,50,,Al,0, and P,0,, the correct order of acidic strength 1
$i0,,50,,AL0, 80 P,0, &3¢ &' @D 200 B (E0

Options :



1. = S10, <80, < Al,0; < P,0;
> % 50, <P,0, <Al0,; <Si0,
3« ALO,; <810, <P,0, <80,

4 » ALO, <P,0, <810, <SO,
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According to molecular orbital theory, which of the following statement is not correct?
e ©8)ErS VTS0 (560, 1800 FES IO NBS 595 7

Options :
C, molecule is diamagnetic in nature
;% €, @80 (DS500T,08 52700 & G0N0

Bond order of C, molecule is 2

, = C, ©€0a) VOE (500 2

C. ion is paramagnetic in nature

5 % C; ©OPS HT°OHT,08 D 52rS0 & G0N0

C, consists of 1o and 1n bond
4 v C; Q0 16 D8O I 200 GOLFTON
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The melting point of o-hydroxybenzaldehyde (A) is lower than that of
p-hydroxybenzaldehyde (B). This is because

0- 378 BTG (A) TE) (BVBSN 0 p-33Es) BozrE) & (B)
50T %)%, A8 e 860

Options :

(A) has mtermolecular H-bonding and (B) has intramolecular H-bonding
1. % (A) S0 ©0SENS H- 20650 BN (B) 0 @Ed 0858 H-20G0 G50Eron

Both (A) and (B) have intermolecular H-bonding
, = (A), (B) BoB0E3S’ e90e53e0E H- 220650 G0N0

Both (A) and (B) have intramolecular H-bonding
3 % (A), (B) BoB0ES” 96950658 H- 0630 G0N0

(A) has intramolecular H-bonding and (B) has intermolecular H-bonding
(A) SO @89 £0e58 H- 200650 8AW (B) O 0e58en H- 22080
4. « GOLION
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At what temperature will the RMS velocity of sulphur dioxide molecules at 400 K be
the same as the most probable velocity of oxygen molecules?

400 K 50 00083 )& 95090 RMS 3660, o) eaf(fied a6 38120 e90e)©
852 ROTIE SHO 80 IrdeN?

Options :



1. % 600 K

2 = 200 K
3 % 400 K

4.+ 300K
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0.43 g of a metal of valence 2 was dissolved in 50 mL of 0.5M H>SOs solution. The
unreacted acid required 14.2 mL of 1M NaOH solution for neutralization. The atomic
weight of the metal 1s

38R 2 K 043 g © 2.8 S 50 mL © 0.5M H:804 (erdea0 &'

8R0S, BSOS 8600 & SeINEBOErIE 142 mL ©
IM NaOH e9:58:00096. & 370 G30%), 8ren2r80

Options :
1. % S6u
2. % 40u

3. % 27u

4 + 24u
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At 300 K, 3.0 moles of an ideal gas at 3.0 atm pressure is compressed isothermally to

one half of its volume by an external pressure of 6.0 atm. The work done (in kJ) is

(Given, R=0.082 L atm K'mol™) (1 L atm=101.3 J)

300 K 5, 3.0 atm 0330 & &) 3.0 IS © 2.8 838) 0506 & 6.0 atm

28 200 3O SBTRE D00 SOBODSHID TR DN HBSPE0 HPAE

SN, 2008 I (kI © ')

(R=0.082 L atm K™ mol"') (1 L atm = 101.3 )

Options :
1.¢ 1.476
2. % 11.214

3 % 3.738

4. % 14,952
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At T(K) the equilibrium constants for the following two reactions are given below
T(K) 5& 1808 BO 585050 DT DT°OTEN Jad SOV
2A(g)=—=B(gHC(g:K, =16

2B(gh+C(g)=—=2D(g):K, =25

What 1s the value of equilibrium constant (K) for the reaction given below at T(K)?

1808 550 T(K) 38 M@ e 0TP080 (K) D) Oeh?
1

A(g)+EB(g):D(g)

Options :

1. % 100
2. % 50
3.« 20

4. % 715
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Identify the pair of hydrides which have polymeric structure
FOBE D000 &) I B 2208 & HB0THSW

Options:
| = LiH, NaH

) & BeH>, MgH>

3 % NH;, CHq4



4. % B2Hs, H2O
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Match the following
808 °¢3Q) 23¢9t edN
List—1I (ed& - 1) List —II (eQ& - 1)
Alloy Use
o S'5ro &HTBIHO
A Li-Pb [ | In aircraft construction
DATTE T80
B Be-Cu II | To make bearings for motor engines
Jrerd R0z ©F SO0 © S$0srd8
C Mg-Al Il | To make tetraethyl lead
BDErABO B& $aSrd8
D Na-Pb [V | To make high strength springs
28036 0K (20N © aSros
The correct answer is
QDR NaPGTR0
Options :

1 % A-IL; B-IV; C-III; D-I

5 « A-1I; B-1V; C-I; D-11I

3. % A-IV; B-I; C-II; D-1II

4. % A-IIL; B-1I; C-I; D-IV
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The hydroxide of which of the following metal reacts with both acid and alkali?

808 2 ST ITETTIE, SDOSET DO TEOS® s 2BYB0E?

Options :

1, % Mg

2. % Na

3.« Be

4. % Ca
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The correct formula of borax is Na,[B,0,(OH) ].vH,0. The sum of x and y is

S505) O FEer Na,[B,0,(OH). |yH,0. x 8050 y © J0¢30 Densd

Options :

1. % 14

2. % 09



3. ¢ 12

4. % 10
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Formic acid on heating with concentrated H,SO, at 373 K gives X, a colourless

substance and Y, a good reducing agent. The number of 0 and 7 bonds in X, Y are
respectively
27025 @0 & eh H,80, & 373K 58 3B T8I X, 2.8 o B

NP0 HHOA Y, 2.8 000 § oHESI0D a00d. X, Y oF 0,7 2057
QODFEN T

Options :

1A=L EY=]1;2

, e X=1,2Y=2,2

LxX=1,2Y=33
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Eutrophication can lead to

OO DTAR A8 52590 99 0d

Options :

Decrease 1n nutrients

1w AT SHASZ

Increase in dissolved salts

> % 3 BT 3T OG0

Decrease in dissolved oxygen

3 v S EBAS @38 )33S L $hosso

Decrease in water pollution

4 % Ve efoicso
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In which of the following options, the [UPAC name is not correctly matched with the
structure of the compound?

1808 2 )50 S HFS0 By, 070 & IUPAC 060 DO

2STADRSE?
Options :
OH
3.4 - Dimethylphenol
CHj 3.4 - BRSO
1 & CHs

2.¥



Cl
,@ 4 - Chloro - 1.3 - dinitrobenzene
O:N NO, 4-56-13-3B3&BoAs

NO:
2 - Chloro - 1 - methyl - 4 - nitrobenzene
o 2-58-1-2BS-4- BEBoES
3 % CH:
NH:
CH: 4 - Ethyl - 2 - methylaniline
4-8636-2- BSOS
4 % C2Hs
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Consider the following carbocations

808 8) 305N © & HBHEFoHSN

+ + + + +
CH,CH, CH,=CH | CH,- C -H| CH,-CH, HC=C
CH;
| Il I IV V

Arrange the above carbocations in the order of decreasing stability

2 58) 3005050 ¢ e 50 ST 13006 a8 )0

Options :

1. 121> IV>1I>V

2. V>I>IV>11>1



3.5 V>II>II>1>1V

4. % II>1I1>IV>V>]
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Consider the following reaction sequence

808 X078 (B3R 208830t

2 —Methylpropane — 2t X 22004,y - ;i;jf:lzi') > A+B
5 KMnO, 20% H;PO, | 1)04 5

2-0BO |0 >N Y ;,j;}H:D > A+B

What are A and B?

A 8050 B 0 ?

Options :

.« CH,CH=0, CH,CH=0

, » (CH;),C=0,CH,=0

3. % (CH,),C=0,CH,CH=0

4 x CH,CH=0, CH,=0
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Identify the end product (Z) in the sequence of the following reactions
(0]

C>H:«Bp (l) Alc. KOH Red hot Fe tube )k Cl

— ) Y
(i) NaNH: 873K Anhy. AICE. A

1808 5850 (806 9055 5578910 (Z) & K80t

O
O™ 5O )k
1 ) ¥ - Q) TR0 Cl
() e0),*d5 KOH . o 7

C2H4Br X
(ii) NaNH 873K e 8 AICk. A

Options :

=

1. % CsHs Cl

>=o

5 CE»H‘ CH?

>=c:~

3 % CsHs CH2CHz3

>=o
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In bee lattice containing X and Y type of atoms, X type of atoms are present at the corners
and Y type of atoms are present at the centers. In its unit cell, if three atoms are missing
in the corners, the formula of the compound is

X 508050 Y 582 HOSmensgen dsy bee 280 &, X 555 HOSreDge
S0 0H0) Y 855 HSrensen Soae S &) on. &R rdE S
&, SO0 0D S DESTENYEN BILONS & TS0 F8 T

Options :

1.4 XjYx

5 % KgYs

3. % X-‘-Yﬁ

a. % XsY;
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At 300 K, the vapour pressure of toluene and benzene are 3.63 kPa and 9.7 kPa
respectively. What is the composition of vapour in equilibrium with the solution
containing 0.4 mole fraction of toluene?

(Assume the solution is ideal)

300 K 56, 08, BodS © arndaren SO 3.63 kPa B0 9.7 kPa.

T80 & SOS IS oo 04 ™ God ©8 TR0 & JHTRES
€531 3008, 2730 S TR N0EI0 JOES?
(IE°IE90 Q) &0 (TTHE0 1T &F0TD)

Options:

1. % 0.40



2. % 0.60

3. % 0.80

4.+ 0.20
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0.592 g of copper is deposited in 60 minutes by passing 0.5 amperes current through a solution
of copper (II) sulphate. The electro chemical equivalent of copper (II) (in gC™) is
(F=96500 C mol ™)

50 (1) OS)E [TN60 TS0 0.5 S0AOHE ANIS & 60 ADare) Jew
3708 TR 0.592 g © 0 A§ N0 @oN08. $90 (1) Tng) S
oS Sergoso(gC © &)

(F=96500 C mol ™)
Options:

1.% 3.3x107°
2 ¢ 3.3x107

3 % 6.6x 10

4. % 6.6x10 ?
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; l
For the gaseous reaction, N,0, — 2N03+EOJ the rate can be expressed as

N,O, - 2N02+% 0,03 o) 8 0 T (808 ATTenT 2580 TODI )N

_d NE()5] - K| [NEO_q]
dt

-|-d _NOZ:I :[{1 [NZO,\]
dt

+d_01] :K_‘-[NJOF.]
dt

The correct relation between K, K> and K5 1s

K1, K2 0050 K3 © 0§ 90 02000
Options :

. 1 Ki=2K,~4K,

2. v 2K, =K, =4K,

5 » 2K, =3K,=4K,

4 = 4K, =2K,=K,
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Match the following

808 ¢8R 23¢53ThHdw
List— [ (& - 1) List — I1 (23*D& - 1)
Industrial process Catalyst used
JOF0E DQed TAS (8880
A Ostwald’s process I CuCly
S50 IS
B Haber’s process 11 Zeolites
b HOS 2O3rSE e
b Deacon’s process Il Pt gauge
QES HPS Pt o5
D Cracking of hydrocarbons v Fe
@IS © Pozdo
The correct answer is
NS INENIN AN To)
Options:

1.« A-ILB-LC-1V,D-III

> # A-IV,B-LC-II,D-III

s x A—ILB-IV,C-I,D-1I

4. v A-NIILB-1IV,C-1,D-1II
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Copper matte is a mixture of
5206 S¢S 9T HeES W) MFvo

Options :



Oxides of Cu and Fe
1 = Cu, Fe © es3)¢&

Carbonates of Cu and Fe
, % Cu, Fe © 5°8)3¢

Sulphides of Cu and Fe
3 v Cu, Fe © 8¢

Silicates of Cu and Fe
4. F CU., F(: f_) ?Jé)g@

Question Number : 147 Question Id : 3838233667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

X A
C+Cone. H,SO, — X+ Y +H,0

X and Y in the above reaction are

2 855" X SDBO0D Y ex
Options :

1. % CO, SO3

2 CO-, SO-

5 % CO, SO»

4. % C302, SOz
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Correct Marks : 1 Wrong Marks : 0
Which among the following oxoacids of phosphorous will have PO -P bonds?

1808 )8R 68 saree Se3 0HO P-0-P 205FenTT)0n?

[. HsP20s
[I. HaP20s
[1I. HaP207
[V. (HPO:s)s

Options :

1.« 1T & IV
2 % | &Il
3 % [ & 111

4. % 11 &IV

Question Number : 149 Question Id : 3838233669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A A

The bond angles H-O-N and O—N-O in the planar structure of nitric acid
molecule are respectively

¢35 &30 ) e o0 H-0-N 8% 0-N-0
208FETeN SBSMT



Options :

L % 130°,102°

2« 102°, 130°

5. = 134°,100°

4. % 100°, 134°

Question Number : 150 Question Id : 3838233670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Observe the following f-block elements

808 2§ rO5 e B0
Eu(Z=63);Pu(Z=94);Cf(Z=98); Sm(Z=62) ; Gd (Z=64) ; Cm (Z=96)
How many of the above have half-filled f-orbitals in their ground state?

2 TS AN 08S ZrRran S0 0 oA f - e38)Er¢hy &) ow?

Options:

1.4 3



Question Number : 151 Question Id : 3838233671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
Which one of the following complex ions has geometrical isomers?

180& 5022 @05 &S DA (& rdyFsseercd ¥ &oenod?

Options :

, o [Co(CD),(en), |
, « [Cr(NH,), (en)]”"

3 % [CD{EI'I]B]M

. [Ni(NH,);Br]|

Question Number : 152 Question Id : 3838233672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not an example of condensation polymer?

1808 735" DA NN FODE Ko GrsTEed 5°¢0?

Options :

Terylene
1. % BOOS

Nylon 6,6
5 % RN 6,6



Bakelite
3. % BEBE

Polystyrene

4 v TOROS

Question Number : 153 Question Id : 3838233673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the [UPAC name of the product Y in the given reaction sequence?
180 85523 9078 5008 & )09)0 Y BnE), TUPAC 500 &7
CHO
|
(CHOH), —N_, X
I
CH,OH

Options :

H‘- -'II H:U \-Y

2\314!5'&61? o hCKﬂh}'drﬂxthplﬂnﬂiﬂ HCid
| v 2.3,4,5.6,7 25 ) 3(G8) TS 0nE @0

2,3.4,5,6 — pentahydroxyhexanoic acid
5 % 2,3,4,5,6 -0 37 (@8) 28 S ons esdo

3.4,5 — trihydroxyheptanoic acid
3, % 34,5 - (D@ES) rRIows eho

3.4.5 — trihydroxyhexanoic acid
4 % 34,5 - [RIFEE) 8IS edo



Question Number : 154 Question Id : 3838233674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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What is the value of ‘n’ in ‘Z” of the following sequence?
808 (5590 &' Z 5030 ‘n” Densd Joed?
Laurylalcohol —2%— Lauryl hydrogensulphate—"**_,CH.- (CH, ) - CH,080,Na
(X) (Y) (Z)
sodium lauryl sulphate

08 s)rS —2y 008 AT IB)S NaOH@), CH;- (CH,),- CH,080,Na

(X) (Y) FAa%H0 erdS 85

(Z)

Options:

1.+ 10
2. % 12
3. % 16

4. % 14

Question Number : 155 Question Id : 3838233675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The organic halide, which does not undergo hydrolysis by S, 1 mechanism is
S, 1 Y08 AGFR0 T 50° 20 DFAL0 TORR §8)S (ROQOD) FSE

Options :



@,CH: -Cl

1. %
, % CH,=CH-CH,CI
5 % (CH,),C - CI

4 v CH,—CH=CH-Cl

Question Number : 156 Question Id : 3838233676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
What is *Z’ in the given sequence of reactions?

1808 B985 1E00 S Z’ AE?
COMKMIOUH ¢ Wy Zn-Hg
(2)SOCh " Pd|BaSO: = Conc. HCl ~
e
Options:

<8
1. ®

: ,CH3
\j}



3. %

Question Number : 157 Question Id : 3838233677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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What 1s the % of carbon in the product ‘Z’” formed in the reaction?
258565 DBIAS &e515)0 ‘Z° S EYS TS50 DOehH?

OH

(i) NaOH (CH3CO)0
(11) CO2 H™
() H™

Options :

= 7 + CH3CO:H

1. % 40

2. % 50

3. % 70

4.+ 60

Question Number : 158 Question Id : 3838233678 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
808 TE3R) 25280t
List — I (Reactants) List —IT (Product)
gde -1 (Sdlradse) @ 11 (805r23:50)
A| OH I | Benzoquinone
A BoR8 1w
+In——
B OH Il | Benzene
Bo&
XENCI:O'
H,$0,
c| OH [11 | Salicylic acid
(i) CHCl;/ NaOH TONOS &0
“:3 Ld
(1) H~
D| OH IV | Salicylaldehyde
OO TR
(1)NaOH
(1)CO,/H~-
The correct answer is
0N QaGN0
Options :

1. vA-ILB-LC-IV; DI

, s A—ILB-III;C—1;D—

3 x A-II;B-1II; C-

2 A-IILB-IV;C-LI; D-1I

IV; D -1




Question Number : 159 Question Id : 3838233679 Question Type : MCQ Option Shuffling : No
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: N.A Think Time : N.A Minimum Instruction Time : 0
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What are Y and Z respectively in the given reaction sequence?

B0 BT°8 (500 SEOMT Y 605N Z €0 D7

DOS
(1) B:Hs Cu (i) dil. NaOH
AR . Y ’ : 2 7
(2) H202 | NaOH (aq) 373 (2moles) (i) A

(2 3rS en)
Options :

O H

1w)l\H ’ N\Ior
O H
RS ,’Jﬁol’

O 0
3H\J\H : /\é\/u\H

CNANop !’ \J\OH

Question Number : 160 Question Id : 3838233680 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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What is ‘C’ in the given sequence of reactions?
808 [ESTD 850 & ‘C NSO DE?
C2Hs

2 A —— B

Br  NaNO: /HCI H:0 / (1) KMnO:s /OH™

273K H:PO» () H:0"

Y

NH:
Options :

CHs

> C



